
info@procoreparts.com DURABILITY MATTERS1

parts guide

AIR PRODUCTS •CARGO CONTROL •LANDING GEAR •SHOP SUPPLIES 
•SUSPENSION •TRAILER DOORS & ACCESSORIES •WHEEL END

 REPLACEMENT PARTS FOR THE HEAVY 
DUTY TRANSPORTATION INDUSTRY



DURABILITY MATTERS info@procoreparts.com2

Built from the inside out to be long lasting, and to meet or exceed OEM-
level durability and service life. The ProCore family of transportation parts 

provides your service and parts sales departments a new option for you and 
your customers - OEM quality without the inflated OEM prices.



info@procoreparts.com DURABILITY MATTERS3

AIR PRODUCTS .................................... 1

BRAKE COMPONENTS ........................ 11

CARGO CONTROL .............................. 17

LANDING GEAR .................................. 21

ELECTRICAL COMPONENTS ................ 19

SUSPENSION ..................................... 33

SHOP SUPPLIES .................................. 27

WHEEL END ....................................... 45

TRAILER DOORS & ACCESSORIES ........ 37

TABLE OF CONTENTS

PREFIX GUIDE .................................... 54

WARRANTY ....................................... 51

INDEX ................................................ 55



DURABILITY MATTERS info@procoreparts.com4



info@procoreparts.com DURABILITY MATTERS1



DURABILITY MATTERS info@procoreparts.com2

AIR BRAKE FITTINGS



info@procoreparts.com DURABILITY MATTERS3

AIR BRAKE FITTINGS
PROCORE PART # DESCRIPTION
PCABF3839186 Air Brake Fitting, Frame Coupling, 1/2 OD Tube, 3/8 Female Pipe, 1-5/16 

Long
PCABF3839166 Air Brake Fitting, Frame Coupling, 3/8 OD Tube, 3/8 Female Pipe, 1-3/8 

Long
PCABF3839284 Air Brake Fitting, Frame Coupling, 1/2 x 1/4, 1-11/16 Long
PCABF3838266 Air Brake Fitting, Bulkhead Coupling, 3/8 Female Pipe, 3/8 Female Pipe, 

1-15/16 Long
PCABF384624 Air Brake Fitting, Union, 1/4 OD Tube
PCABF384626 Air Brake Fitting, Union, 3/8 OD Tube
PCABF384628 Air Brake Fitting, Union, 1/2 OD Tube
PCABF3848066 Air Brake Fitting, Elbow, Male, 45 Degree, 3/8 OD Tube, 3/8 Pipe
PCABF3847266 Air Brake Fitting, Tee-Pipe On Branch, 3/8 OD Tube, 3/8 Pipe
PCABF3847166 Air Brake Fitting, Tee-Pipe On Run, 3/8 OD Tube, 3/8 Pipe
PCABF389626 Air Brake Fitting, Push-To-Connect, Union, 3/8 OD Tube
PCABF388014 Air Brake Fitting, Drain Cock, Radiator, External Seat, 1/4 Pipe Thread
PCABF384616 Air Brake Fitting, Nut, 3/8 OD Tube
PCABF384636 Air Brake Fitting, Tube Support, 3/8 OD Tube
PCABF384686 Air Brake Fitting
PCABF389686 Air Brake Fitting
PCABF384696 Air Brake Fitting
PCABF389696 Air Brake Fitting
PCABF3812105U Air Brake Fitting, Drain Valve, Universal

Quality, dependable, fittings for all of 
your application needs



DURABILITY MATTERS info@procoreparts.com4

BRAKE CHAMBERS & VALVES



info@procoreparts.com DURABILITY MATTERS5

BRAKE CHAMBERS & VALVES
PROCORE PART # DESCRIPTION

PCBRC3030CI Brake Chamber, Type 30/30, With Clevis Kit
PCBRC3030CD Brake Chamber, Type 30/30, Domestic, Without Clevis Kit
PCBRC3030CLS Brake Chamber, Type 30/30, Long Stroke
PCBRCA3000 Brake Chamber, Type 30, Service, without Clevis Kit
PCBRC3030PB Brake Chamber, Type 3030, Piggyback
PCBRC3030PBLS Brake Chamber, Type 3030, Piggyback, Long Stroke

PROCORE PART # DESCRIPTION
PCVLV110170 Air Valve,  110170, Sealco-Compatible Spring Brake Control
PCVLV110171 Air Valve, 110171, Sealco-Compatible Spring Brake Control
PCVLV110410 Air Valve, 110410, Sealco-Compatible Service Relay
PCVLV110415 Air Valve, 110415, Sealco-Compatible Service Relay
PCVLV110500 Air Valve, 110500, Sealco-Compatible Spring Brake Control
PCVLV110700 Air Valve, 110700, Spring Brake Control
PCVLV110800 Air Valve, 110800, Spring Brake Control
PCVLV26000 Air Valve, 26000, ProCore Air Valve, Multi Function RT-4
PCVLV28510 Air Valve, 28510, ProCore Air Valve, RG-2
PCVLV28600 Air Valve, 28600, Full Function 3/4
PCVLV28601 Air Valve, 28601, ProCore Air Valve, Full Function, 1/2”
PCVLV281865 Air Valve, 281865, ProCore
PCVLV90054007 Air Valve, 90054007, Height Control, ProCore
PCVLVVS227 Air Valve, VVS227, Height Control, ProCore



DURABILITY MATTERS info@procoreparts.com6

CLEVIS KIT ASSEMBLY
PROCORE PART # DESCRIPTION

PCCKAAS3000 Clevis Kit Assembly
PCCKAAS3002 Clevis Kit Assembly
PCCKAAS3003 Clevis Kit Assembly
PCCKAAS3016 Clevis Kit Assembly
PCCKAAS3018 Clevis Kit Assembly
PCCKAAS3019 Clevis Kit Assembly
PCCKAAS4004 Clevis Kit Assembly
PCCKAR810007 Clevis Kit Assembly
PCCKAR810019 Clevis Kit Assembly
PCCKAR810021 Clevis Kit Assembly



info@procoreparts.com DURABILITY MATTERS7

GLADHANDS
PROCORE PART # DESCRIPTION
PCGLHSF Gladhand, Seal, Flap Style
PCGLH36001 Gladhand Seal, Standard
PCGLH36101 Gladhand, Aluminum, Service, Blue
PCGLH36201 Gladhand, Aluminum, Emergency, Red
PCGLH36301 Gladhand, Aluminum, Universal
PCGLH36161 Gladhand, Bracket Mount, 38 Degree, Service, Blue
PCGLH36261 Gladhand, Bracket Mount, 38 Degree, Emergency, Red
PCGLH441154 Gladhand, Swing Away, Both Ports Open, Service Swivel, Blue
PCGLH441155 Gladhand, Swing Away, Both Ports Open, Emergency Swivel, Red
PCGLHD Gladhand, Dummy



DURABILITY MATTERS info@procoreparts.com8

NYLON & COILED AIR LINE
PROCORE PART # DESCRIPTION
PCCALS15 Coiled Airline, Pair, Red And Blue, 15'
PCCALB15 Coiled Airline, Blue, 15'
PCCALR15 Coiled Airline, Red, 15'
PCCALS1540 Coiled Airline, Pair, Red And Blue, 15', With 40” Lead
PCCALB1540 Coiled Airline, Blue, 15', With 40” Lead
PCCALR1540 Coiled Airline, Red, 15', With 40” Lead

PROCORE PART # DESCRIPTION
PCNYL55104 Air, Nylon Tubing, 1/4, Black
PCNYL55104B Air, Nylon Tubing, 1/4, Blue
PCNYL55104R Air, Nylon Tubing, 1/4, Red
PCNYL55106 Air, Nylon Tubing, 3/8, Black
PCNYL55106B Air, Nylon Tubing, 3/8, Blue
PCNYL55106R Air, Nylon Tubing, 3/8, Red
PCNYL55108 Air, Nylon Tubing, 1/2, Black
PCNYL55108B Air, Nylon Tubing, 1/2, Blue
PCNYL55108R Air, Nylon Tubing, 1/2, Red
PCNYL55110 Air, Nylon Tubing, 5/8, Black



info@procoreparts.com DURABILITY MATTERS9

RUBBER AIR HOSES
PROCORE PART # DESCRIPTION
PCRAH3200218 Air Hose, Rubber, Assembly, 3/8 Hose, 3/8 Fittings, Swivel One End, 18 

Long
PCRAH3200224 Air Hose, Rubber, Assembly, 3/8 Hose, 3/8 Fittings, Swivel One End, 24 

Long
PCRAH3200236 Air Hose, Rubber, Assembly, 3/8 Hose, 3/8 Fittings, Swivel One End, 36 

Long
PCRAH3200248 Air Hose, Rubber, Assembly, 3/8 Hose, 3/8 Fittings, Swivel One End, 48 

Long
PCRAH3200260 Air Hose, Rubber, Assembly, 3/8 Hose, 3/8 Fittings, Swivel One End, 60 

Long
PCRAH3200272 Air Hose, Rubber, Assembly, 3/8 Hose, 3/8 Fittings, Swivel One End, 72 

Long
PCRAH38RAH250 Air Hose, Rubber, Bulk, 3/8 Hose, 250Ft Roll
PCRAH12RAH250 Air Hose, Rubber, Bulk, 1/2 Hose, 250Ft Roll
PCRAHS00001 Air Hose Spacer, 3/8 x 3/8
PCRAHS00002 Air Hose Spacer, 1/2 x 1/2
PCRAHS11544 Air Hose Spacer, 3 x 3/8
PCRAHS11600 Air Hose, Support Spring, 25-1/2 x 1-1/8 Coil O.D.
PCRAHS11603 Air Hose, Support Spring, 16 x 1-1/16 Coil O.D.
PCRAHC0001 Air Hose, Clamp, Separator, 3 Hole, 3/8 and 1/2, With Mounting Bolt



DURABILITY MATTERS info@procoreparts.com10



info@procoreparts.com DURABILITY MATTERS11



DURABILITY MATTERS info@procoreparts.com12

BRAKE CAMS & BUSHINGS



info@procoreparts.com DURABILITY MATTERS13

BRAKE CAMS & BUSHINGS

PROCORE PART # DESCRIPTION
PCBCBS28890 Brake, Cam, Bushing Kit, Replaces 
PCBCBS8652 Brake, Cam, Bushing Kit, Replaces M-K23, B8652, E-2287
PCBCB8683HD Brake, Cam, Bushing Kit, Heavy Duty, Replaces M-K61, B8683HD, 

E-2520AHD
PCBCB8696HD Brake, Cam, Bushing Kit, Heavy Duty, Replaces M-1521, B8696HD, 

E-1318A/HD
PCBCB8772MHD Brake, Cam, Bushing Kit, Replaces B8772MHD, E-9078HD
PCBCB8773MHD Brake, Cam, Bushing Kit, Replaces M-K88, B8773MHD, E-9079
PCBCB8792 Brake, Cam, Bushing Kit, Replaces M-K111, B8792, E-9790A
PCBCB8805 Brake, Cam, Bushing Kit, Replaces B8805, E-11897

PROCORE PART # DESCRIPTION
PCBCSC441BL Brake, Camshaft, 17-5/16, Replaces M-990L, C441L, E-2441A
PCBCSC442BR Brake, Camshaft, 17-5/16, Replaces M-990R, C441R, E-2442A
PCBCSC563L Brake, Camshaft, 16-1/8, Replaces M-563L, C563L, E-1563
PCBCSC564R Brake, Camshaft, 16-1/8, Replaces M-563R, C564R, E-1564
PCBCSC867L Brake, Camshaft, 17-5/16, Replaces M-3170L, C867L, E-5506
PCBCSC866R Brake, Camshaft, 17-5/16, Replaces M-3170R, C866R, E-5507
PCBCSC868L Brake, Camshaft, 24-1/16, Replaces M-3172L, C868L, E-5510
PCBCS869R Brake, Camshaft, 24-1/16, Replaces M-3172R, C869R, E-5511

When safety matters most, durability 
and dependability are key



DURABILITY MATTERS info@procoreparts.com14

BRAKE  DRUMS

PROCORE PART # DESCRIPTION
PCBRD1 Brake Drum, ProCore, Replaces 67518B
PCBRD2 Brake Drum, ProCore, Replaces 66864B
PCBRD3 Brake Drum, ProCore, Replaces 61528B
PCBRD4 Brake Drum, ProCore, Replaces 66884B
PCBRD5 Brake Drum, ProCore, Replaces 60876B
PCBRD6 Brake Drum, ProCore, Replaces 68730B
PCBRD7 Brake Drum, ProCore, Replaces 62200B
PCBRD8 Brake Drum, ProCore, Replaces 66864BLW



info@procoreparts.com DURABILITY MATTERS15

BRAKE SHOES & HARDWARE
PROCORE PART # DESCRIPTION

PCBSN4515TQ20S Brake Shoe, New, Lined, 4515TQ, Standard, 20,000 lbs
PCBSN4515TQ20P Brake Shoe, New, Lined, 4515TQ, Premium, 20,000 lbs
PCBSN4515TQ23S Brake Shoe, New, Lined, 4515TQ, Standard, 23,000 lbs
PCBSN4515TQ23P Brake Shoe, New, Lined, 4515TQ, Premium, 23,000 lbs
PCBSN4707ESQ20S Brake Shoe, New, Lined, 4707ESQ, Standard, 20,000 lbs
PCBSN4707ESQ20P Brake Shoe, New, Lined, 4707ESQ, Premium, 20,000 lbs
PCBSN4707ESQ23S Brake Shoe, New, Lined, 4707ESQ, Standard, 23,000 lbs
PCBSN4707ESQ23P Brake Shoe, New, Lined, 4707ESQ, Premium, 23,000 lbs
PCBSN4709ES20S Brake Shoe, New, Lined, 4709ESQ, Standard, 20,000 lbs
PCBSN4709ES20P Brake Shoe, New, Lined, 4709ESQ, Premium, 20,000 lbs
PCBSN4709ES23S Brake Shoe, New, Lined, 4709ESQ, Standard, 23,000 lbs
PCBSN4709ES23P Brake Shoe, New, Lined, 4709ESQ, Premium, 23,000 lbs
PCBSN4515TQ20SK Brake Shoe, Wheel End Kit, New, Lined, 4515TQ, Standard, 20,000 lbs
PCBSN4515TQ20PK Brake Shoe, Wheel End Kit, New, Lined, 4515TQ, Premium, 20,000 lbs
PCBSN4515TQ23SK Brake Shoe, Wheel End Kit, New, Lined, 4515TQ, Standard, 23,000 lbs
PCBSN4515TQ23PK Brake Shoe, Wheel End Kit, New, Lined, 4515TQ, Premium, 23,000 lbs
PCBSN4707ESQ20SK Brake Shoe, Wheel End Kit, New, Lined, 4707ESQ, Standard, 20,000 lbs
PCBSN4707ESQ20PK Brake Shoe, Wheel End Kit, New, Lined, 4707ESQ, Premium, 20,000 lbs
PCBSN4707ESQ23SK Brake Shoe, Wheel End Kit, New, Lined, 4707ESQ, Standard, 23,000 lbs
PCBSN4707ESQ23PK Brake Shoe, Wheel End Kit, New, Lined, 4707ESQ, Premium, 23,000 lbs
PCBSN4709ES20SK Brake Shoe, Wheel End Kit, New, Lined, 4709ESQ, Standard, 20,000 lbs
PCBSN4709ES20PK Brake Shoe, Wheel End Kit, New, Lined, 4709ESQ, Premium, 20,000 lbs
PCBSN4709ES23SK Brake Shoe, Wheel End Kit, New, Lined, 4709ESQ, Standard, 23,000 lbs
PCBSN4709ES23PK Brake Shoe, Wheel End Kit, New, Lined, 4709ESQ, Premium, 23,000 lbs

PROCORE PART # DESCRIPTION
PCBHKEF1 Brake Hardware Kit, Replaces M-K77, EF-1, E-1308E
PCBHKES1 Brake Hardware Kit, Replaces M-K84, ES-1, E-5481A
PCBHKES2 Brake Hardware Kit, Replaces M-K105, ES-2, E-4709ES2
PCBHKEK1HD Brake Hardware Kit, Replaces M-K10, EH-1HD, E-44311EHD
PCBHKQK1HD Brake Hardware Kit, Replaces M-K39, QK-1HD, E-2769SHD
PCBHKQK2SHD Brake Hardware Kit, Replaces M-K304, QK-2SHD, E-3895SHD
PCBHKXK3HD Brake Hardware Kit, Replaces M-K330, XK-3HD, E-3710SHD
PCBCS869R Brake, Camshaft, 24-1/16, Replaces M-3172R, C869R, E-5511



DURABILITY MATTERS info@procoreparts.com16

SLACK ADJUSTERS
PROCORE PART # DESCRIPTION
PCABAR801041 Slack Adjuster, Automatic, ProCore, 1-1/2 - 10 Spline, 5.5”, Type 20, 30
PCABAR801042 Slack Adjuster, Automatic, ProCore, 1-1/2 - 10 Spline, 6”, Type 20, 30
PCABAR801073 Slack Adjuster, Automatic, ProCore, 1-1/2 - 28 Spline, 5.5”, Type 24, 30
PCABAR801074 Slack Adjuster, Automatic, ProCore, 1-1/2 - 28 Spline, 6”, Type 24, 30
PCABAAS1140 Slack Adjuster, Automatic, ProCore, 1-1/2 - 28 Spline, 5.5”
PCABAAS1141 Slack Adjuster, Automatic, ProCore, 1-1/2 - 28 Spline, 6”
PCABA65174 Slack Adjuster, Automatic, ProCore, 1-1/4”” - 28 Spline, 5.5”
PCABA65175 Slack Adjuster, Automatic, ProCore, 1-1/2”” - 28 Spline, 6”
PCABA40010211 Slack Adjuster, Automatic, ProCore, 1-1/2 - 28 Spline, 5.5”
PCABA40010212 Slack Adjuster, Automatic, ProCore, 1-1/2 - 28 Spline, 6”

PCMBA10 Slack Adjuster, Manual, 10 Spline 5”-6”-7”
PCMBA28-1 Slack Adjuster, Manual, 28 Spline 5”-6”-7”
PCMBA28-2 Slack Adjuster, Manual, 28 Spline 5 1/2”-6 1/2”
PCMBA28-3 Slack Adjuster, Manual, 28 Spline 5”-6”
PCMBA37 Slack Adjuster, Manual, 37 Spline 6”



info@procoreparts.com DURABILITY MATTERS17



DURABILITY MATTERS info@procoreparts.com18

CARGO CONTROLS
PROCORE PART # DESCRIPTION
PCCCS1X8 Strap, Ratchet, 1" x 8', S-Hook, PVC Coated
PCCCSR2X27X4 Strap, Ratchet, 2" x 27', Double J-Hook, 4 Ton Breaking Load
PCCCSR2X27X5 Strap, Ratchet, 2" x 27', Double J-Hook, 5 Ton Breaking Load
PCCCSW4X27 Strap, Winch, 4" x 27', Flat Hook, 15,000 lbs Breaking Load
PCCCSW4X30 Strap, Winch, 4" x 30', Flat Hook, 15,000 lbs Breaking Load

PCCCC38-43 Chain, Bulk, 3/8, Grade 43
PCCCC38X20-43 Chain, Assembly, 3/8 x 20', Hook/Hook, Grade 43
PCCCCH38 Chain, Grab Hook, Grade 43
PCCCCTL38 Chain, Tensioner, Lever, 5/16 - 3/8
PCCCCTR38 Chain, Tensioner, Ratchet, 5/16 - 3/8

PCCCBS Cargo Bar, Square, With Rubber Pads

PCCCATS15 Tarp Strap, Bungy Cord, 15"
PCCCATS21 Tarp Strap, Bungy Cord, 21"
PCCCATS31 Tarp Strap, Bungy Cord, 31"
PCCCATS41 Tarp Strap, Bungy Cord, 41"



info@procoreparts.com DURABILITY MATTERS19



DURABILITY MATTERS info@procoreparts.com20

ELECTRICAL COMPONENTS
PROCORE PART # DESCRIPTION
PCELC12B Electric Cable, Coiled, 12', Black, 7-Way, Plug/Plug
PCELC12G Electric Cable, Coiled, 12', Green, 7-Way, Plug/Plug
PCELC15B Electric Cable, Coiled, 15', Black, 7-Way, Plug/Plug
PCELC15G Electric Cable, Coiled, 15', Green, 7-Way, Plug/Plug
PCELC12G48 Electric Cable, Coiled, 12' With 48" Lead, Green, 7-Way, Plug/Plug
PCELC15G48 Electric Cable, Coiled, 15' With 48" Lead, Green, 7-Way, Plug/Plug
PCELS8ABS Electric Cable, Straight, ABS, 8'
PCELS10ABS Electric Cable, Straight, ABS, 10'
PCELS12ABS Electric Cable, Straight, ABS, 12'
PCELS15ABS Electric Cable, Straight, ABS, 15'
PCELR38497 Electric, Receptacle, 7 Way
PCELR38197 Electric, Plug with Spring Guard, 7 Way
PCEL3849709 Electric, Rubber Boot, For 7 Way Receptacle
PCELAWRAP12 All-in-1 Wrap 12'
PCELAWRAP15 All-in-1 Wrap 15'



info@procoreparts.com DURABILITY MATTERS21



DURABILITY MATTERS info@procoreparts.com22

LANDING LEGS



info@procoreparts.com DURABILITY MATTERS23

LANDING LEGS
PROCORE PART # DESCRIPTION
20AULPS230444 Landing Leg, SAF Holland, Classic, Constant Mesh, LPS, Set
20AULPS230444GS Landing Leg, SAF Holland, Classic, Constant Mesh, LPS, Gear Side 
20AULPS230444NG Landing Leg, SAF Holland, Classic, Constant Mesh, LPS, Non-gear Side
PCLLLL300XT117 Landing Leg, Set, Jost L300XT.117, 8 Hole Flange Plate, 10x10x2 Sand 

Shoe, 17" Travel
PCLLLL300XLT117 Landing Leg, Jost L300T117, Non-gear, 8 Hole Flange Plate, 10x10x2 

Sand Shoe, 17" Travel
PCLLLL300XRT117 Landing Leg, Jost L300T117, Gear Side, 8 Hole Flange Plate, 10x10x2 

Sand Shoe, 17" Travel
PCLLLL300XT17 Landing Leg, Set, Jost L300XT.17, 8 Hole Flange Plate, 10x10x4.5 Sand 

Shoe, 17" Travel
PCLLLL300XLT17 Landing Leg, Jost L300LT17, Non-gear Side, 8 Hole Flange Plate, 

10x10x4.5 Sand Shoe, 17" Travel
PCLLLL300XRT17 Landing Leg, Jost L300RT17, Gear Side 8 Hole Flange Plate, 10x10x4.5 

Sand Shoe, 17" Travel

When it comes to landing gear for your 
trailer or chassis, ProCore has just 
what you need - we understand the 

importance of high functioning landing 
gear



DURABILITY MATTERS info@procoreparts.com24

LANDING LEG ACCESSORIES



info@procoreparts.com DURABILITY MATTERS25

LANDING LEG ACCESSORIES
PROCORE PART # DESCRIPTION
PCLLA03207H Landing Leg Accessories, Crank Handle, 7", Horizontal
PCLLC03207V Landing Leg Accessories, Crank Handle, 7", Vertical
PCLLA03209V Landing Leg Accessories, Crank Handle, 9", Vertical
PCLLA03211H Landing Leg Accessories, Crank Handle, 11", Horizontal
PCLLA03211V Landing Leg Accessories, Crank Handle, 11", Vertical
PCLLA03215H Landing Leg Accessories, Crank Handle, 15", Horizontal
PCLLA03215V Landing Leg Accessories, Crank Handle, 15", Vertical
PCLLA03221H Landing Leg Accessories, Crank Handle, 21", Horizontal
PCLLA03221V Landing Leg Accessories, Crank Handle, 21", Vertical
PCLLATB01 Landing Leg Accessories, Timing Bar, Adjustable, 37-56, 3 Piece
PCLLATB02 Landing Leg Accessories, Timing Bar, Adjustable, 53-72, 3 Piece
PCLLA05310 Landing Leg Accessories, Sand Shoe, Low Profile, 10 x 10
PCLLA05300 Landing Leg Accessories, Sand Shoe, High Profile, 10 x 10
PCLLA06410 Landing Leg Accessories, Sand Shoe Axle, 8-1/2 x 1.9, Hollow, With Cap 

And Clip
PCLLA06411 Landing Leg Accessories, Sand Shoe Axle, 8-1/2 x 1.9, Heavy Duty, 

Hollow, With Cap And Clip
PCLLA06431 Landing Leg Accessories, Sand Shoe Axle, 9-1/16 x 1-7/8, Heavy Duty, 

Solid, With Pin And Washer
PCLLACHH01 Landing Leg Accessories, Crank Handle Holder
PCLLACHH02 Landing Leg Accessories, Crank Handle Holder
PCLLABL01 Landing Leg Accessories, Brace Lug, Flat, 3/8 x 2 x 8-13/32
PCLLABL02 Landing Leg Accessories, Brace Lug, Angled, 3/8 x 2 x 2-3/4 x 2-3/4
PCLLABL03 Landing Leg Accessories, Brace Lug, W, 3/8 x 2 x 2-5/8 - 1-5/8 x 1-5/8 - 

2-5/8
PCLLABL04 Landing Leg Accessories, Brace Lug, Round, 3/8 x 2 x 2-9/32 - R. 2-3/4 x 

2-9/32
PCLLABL05 Landing Leg Accessories, Brace Lug, Flat, 3/8 x 2 x 10-1/4
PCLLATC01 Landing Leg Accessories, Top Cover, Single Speed, Replaces C10259 Jost 
PCLLATC02 Landing Leg Accessories, Top Cover, Two Speed, Replaces C10217 Jost
PCLLATC03 Landing Leg Accessories, Top Cover, Replaces LG-0264 SAF



DURABILITY MATTERS info@procoreparts.com26



info@procoreparts.com DURABILITY MATTERS27



DURABILITY MATTERS info@procoreparts.com28

FLOOR SCREWS
PROCORE PART # DESCRIPTION
PCFASFSTH14X114 Floor Screw, Torx Head, 1/4 x 1-1/4
PCFASFSTH14X112 Floor Screw, Torx Head, 1/4 x 1-1/2
PCFASFSTH14X2 Floor Screw, Torx Head, 1/4 x 2
PCFASFSTH14X212 Floor Screw, Torx Head, 1/4 x 2-1/2
PCFASFSTH14X3 Floor Screw, Torx Head, 1/4 x 3
PCFASFSTH14X4 Floor Screw, Torx Head, 1/4 x 4
PCFASFSTH14X5 Floor Screw, Torx Head, 1/4 x 5
PCFASFSTH14X6 Floor Screw, Torx Head, 1/4 x 6
PCFASFSTH516X1 Floor Screw, Torx Head, 5/16 x 1
PCFASFSTH516X114 Floor Screw, Torx Head, 5/16 x 1-1/4
PCFASFSTH516X112 Floor Screw, Torx Head, 5/16 x 1-1/2
PCFASFSTH516X2 Floor Screw, Torx Head, 5/16 x 2
PCFASFSTH516X212 Floor Screw, Torx Head, 5/16 x 2-1/2
PCFASFSTH516X3 Floor Screw, Torx Head, 5/16 x 3
PCFASFSTH516X312 Floor Screw, Torx Head, 5/16 x 3-1/2



info@procoreparts.com DURABILITY MATTERS29

DRILL & INSERT BITS
PROCORE PART # DESCRIPTION
PCBIT440TX20 Insert Bit, 1/4 Hex, T20 Torx
PCBIT440TX25 Insert Bit, 1/4 Hex, T25 Torx
PCBIT440TX30 Insert Bit, 1/4 Hex, T30 Torx
PCBIT440TX35 Insert Bit, 1/4 Hex, T35 Torx
PCBIT480TX40 Insert Bit, 1/4 Hex, T40 Torx
PCBIT480TX45 Insert Bit, 1/4 Hex, T45 Torx

PCBIT855 Bit Holder, 5/16 Hex
PCBIT858 Bit Holder, 1/4 Hex

PCBIT1132HS Drill Bit, High Speed, 11/32
PCBIT1164HS Drill Bit, High Speed, 11/64
PCBIT14HS Drill Bit, High Speed, 1/4
PCBIT12HS Drill Bit, High Speed, 1/2
PCBIT1364 Drill Bit, High Speed, 13/64
PCBIT1764HS Drill Bit, High Speed, 17/64
PCBIT316HS Drill Bit, High Speed, 3/16
PCBIT732HS Drill Bit, High Speed, 7/32
PCBIT932HS Drill Bit, High Speed, 9/32
PCBIT516HS Drill Bit, High Speed, 5/16             

PCBIT14HD Drill Bit 1/4 Heavy Duty
PCBIT316HD Drill Bit 3/16 Heavy Duty
PCBIT732HD            Drill Bit 7/32 Heavy Duty
PCBIT932HD            Drill Bit 9/32 Heavy Duty



DURABILITY MATTERS info@procoreparts.com30

RIVETS
PROCORE PART # DESCRIPTION
PCFASRTAP14X34 Fastener, Rivet, Tap-It, Nylon, 1/4 X 3/4
PCFASRTAP14X1 Fastener, Rivet, Tap-It, Nylon, 1/4 X 1
PCFASRTAP14X112 Fastener, Rivet, Tap-It, Nylon, 1/4 X 1-1/2
PCFASRTAP14X2 Fastener, Rivet, Tap-It, Nylon, 1/4 X 2
PCFASRTAP14X34 Fastener, Rivet, Tap-It, Nylon, 1/4 X 3/4
PCFASRD381061213 Fastener, Drive Rivet, Alu Body, Alu Pin, 3/8 Head, 3/16 Body, 3/8 Grip
PCFAS38RSD68BS Fastener, Rivet, All Steel, 3/16" Diameter, Dome Head, Grip: .376-.500
PCFAS38RSSD68SSBS Fastener, Rivet, Stainless, 3/16" Diameter, Dome Head, Grip: .376-.500
PCFAS38RAD68ABS Fastener, Rivet, Aluminum, 3/16" Diameter, Dome Head, Grip: .376-.500
PCFASNUTK14 Fastener, Keep Nut 1/4"-20
PCFASEB14X114 Elevator Bolt 1/4"-20 x 1 1/4"
PCFASEB14X112 Elevator Bolt 1/4"-20 x 1 1/2"
PCFASRT14X1 Steel Tubular Rivet 1/4" x 1"
PCRDF892100036 Steel Tubular Rivet 1/4" x 1 1/8"
PCRDF892100032 Steel Tubular Rivet 1/4" x 1 1/4"



info@procoreparts.com DURABILITY MATTERS31

SPRAY PAINT
PROCORE PART # DESCRIPTION
PCSPPBL Spray Paint, Black, Gloss
PCSPPBLF Spray Paint, Black, Flat
PCSPPBLUE Spray Paint. Blue
PCSPPFORDBLUE Spray Paint, Blue, Ford
PCSPPGR Spray Paint, Green
PCSPPLG Spray Paint, Gray, Light
PCSPPORANGE Spray Paint, Orange
PCSPPPG Spray Paint, Gray, Primer
PCSPPR Spray Paint, Red, Gloss
PCSPPRPR Spray Paint, Red, Primer
PCSPPW Spray Paint, White
PCSPPWF Spray Paint, White, Flat
PCSPPY Spray Paint, Yellow



DURABILITY MATTERS info@procoreparts.com32

MISC SUPPLIES
PROCORE PART # DESCRIPTION
PCSUP Shop Supplies, Brake Cleaner, Non-Chlorinated
PCSUP Shop Supplies, Penetrating Oil
PCSUP Shop Supplies, Undercoating, Spray
PCSUPFORG25219 Shop Supplies, Hand Cleaner, Fast Orange, 1 Gallon, With Pump, 

With Pumice
PCSUPGOJO1135-06 Shop Supplies, Hand Cleaner, Go-Jo, 4 Lbs., With Italian Pumice
PCSUPGOJO6298-04 Shop Supplies, Hand Cleaner, Go-Jo, Wipes, 130 Count
PCSUPSCOTT75190 Shop Supplies, Shop Towels, Scott, 200 Per Box
PCSUPRAGWHT50COT Shop Supplies, Rags, White #1 (50 LB/Box), Cotton
PCSUPGOIL80W90Q Shop Supplies, Gear Oil/Hub Oil, 80W-90, Quart
PCSUPGOIL85W140Q Shop Supplies, Gear Oil/Hub Oil, 85W-140, Quart
PCSUPGOIL85W140 Shop Supplies, Gear Oil/Hub Oil, 85W-140, 2.5 Gallon
PCSUPSHE550027558 Shop Supplies, Gadus S3 V220 Grease C 10/ 0.4 kg
PCSUPSHE550026853 Shop Supplies, Grease, Gadus S3 V220 C 18 kg
PCSUPSHE550026854 Gease, Shell Gadus S3 V220 C 50 kg/110.25 lbs
PCSUPETAPE Shop Supplies, Electrical Tape



info@procoreparts.com DURABILITY MATTERS33



DURABILITY MATTERS info@procoreparts.com34

LEAF SPRINGS
PROCORE PART # DESCRIPTION
PCLS32600 Leaf Spring, Two Leaf, Replaces 326-00, TRA2754
PCLS32601 Leaf Spring, Replaces 326-01
PCLS35400 Leaf Spring, Three Leaf, Replaces 354-00, TRA2726
PCLS35500 Leaf Spring, Three Leaf, Replaces 355-00, TRA2725
PCLS35600 Leaf Spring, Three Leaf, Replaces 356-00, TRA2728
PCLS36000 Leaf Spring, Single Leaf, Replaces 360-00, TRA023
PCLS36300 Leaf Spring, Single Leaf, Replaces 363-00, TRA021
PCLS36500 Leaf Spring, Three Leaf, Replaces 365-00, TRA2740
PCLS75205 Leaf Spring, Eight Leaf, Replaces 752-05, TRA2260



info@procoreparts.com DURABILITY MATTERS35

SUSPENSION COMPONENTS
PROCORE PART # DESCRIPTION
PCSHUEQ01 Suspension, Equalizer, 1-Hole, Replaces 16158-01

PCSHUTAA01 Suspension, Torque Arm, Adjustable, 18 1/2" - 21 3/8, Replaces 713-05

PCSHUTAN01 Suspension, Torque Arm, Non-adjustable, Replaces 715-00

PCSHUEQ02 Suspension, Equalizer, 2-Hole, Replaces 750-03

PCSHUH001 Suspension, Hanger, Front, Under Mount, Replaces 20728-01, 7701-02

PCSHUH002 Suspension, Hanger, Center, Under Mount, Replaces 7702-02

PCSHUWP01 Suspension, Wear Pad, Replaces 755-03

PCSHUH003 Suspension, Hanger, Rear, Under Mount, Replaces 20732-01, 7703-02

PCSHUBK01 Suspension, Bolt Kit, Equalizer, Replaces 10287-01, HB77ABW

PCSHUBK02 Suspension, Bolt Kit, Equalizer, Replaces HB97ABW

PCSHUFN01 Suspension, Fastener, Flange Nut, For Torque Arm, Replaces 10562

PCSHUFB01 Suspension, Fastener, Bolt, For Torque Arm, Replaces 20249-01, 719-02

PCSBKEQ01 Suspension, Equalizer, 1-Hole, Replaces SP0131, B1000, E-9305

PCSBKFBK01 Suspension, Fastener, Bolt Kit, Bolt 1 x 6 - 1" Thread-14, Flange Nut 1-14, For Equalizer, 
Replaces PP0050-73 and PP0012-37, SB1015

PCSBKFB01 Suspension, Fastener, Bolt, 1" x 6" - 1" Thread-14, Replaces PP0050-73, SB1002

PCSBKFN01 Suspension, Fastener, Nut, 1-14, Flange, Replaces PP0012-37, SB1027, E-2892

PCSBKTAA01 Suspension, Torque Arm, Adjustable, 18 1/2 - 20 3/4, Replaces SP0123, SB1007, E-4824

PCSBKTAN01 Suspension, Torque Arm, Non-adjustable, 19-1/4, Replaces SP0143, SB1008, E-9307

PCSBKFBK02 Suspension, Fastener, Bolt Kit, 7/8-14 x 4-3/4 Bolt And Flange Nut, Replaces SB1016, 
E-9308

PCSBKFB02 Suspension, Fastener, Bolt, 7/8-14 x 4-3/4, Replaces PP0050-75, SB1005

PCSBKFN02 Suspension, Fastener, Nut, 7/8-14, Flange, Replaces ST1008, E-9607

PCSTRPFBK01 Suspension, Fastener, Hanger Roller Assembly, Replaces 0741-05K, ST1009, E-4837

PCSTRPH01 Suspension, Hanger, Front, Under Mount, Replaces 0084-00, ST1010, E-4804

PCSTRPH02 Suspension, Hanger, Center, Under Mount, Replaces 0088-00, ST1011, E-4805

PCSTRPFBK02 Suspension, Fastener, Equalizer Roller Assembly, Replaces 0741-00K, SH1057, E-4835



DURABILITY MATTERS info@procoreparts.com36



info@procoreparts.com DURABILITY MATTERS37



DURABILITY MATTERS info@procoreparts.com38

DOORS, PANELS, FASTENERS



info@procoreparts.com DURABILITY MATTERS39

DOORS, PANELS, FASTENERS
PROCORE PART # DESCRIPTION
PCRDAGP98X100 Roll Up Door, General Purpose 98 x 100 LTO- Primer
PCRDAGP98X100W Roll Up Door, General Purpose 98 x 100 LTO- PPW
PCRDAGP98X107 Roll Up Door, General Purpose 98 x 107 LTO- Primer
PCRDAGP98X107W Roll Up Door, General Purpose 98 x 107 LTO- PPW
PCRDC02560407 Roll Up Door, Conversion Bulk Kit 7" Header
PCRDC02560409 Roll Up Door, Conversion Bulk Kit 9" Header

PROCORE PART # DESCRIPTION
PCRDP2988911 Roll Up Door, Panel Intermediate 11 X 98 X 3/4 Prime Coat
PCRDP2988912 Roll Up Door, Panel Intermediate 12 X 98 X 3/4 Prime Coat
PCRDP2988915 Roll Up Door, Panel Intermediate 15 X 98 X 3/4 Prime Coat
PCRDP2989011 Roll Up Door, Panel Bottom 11 X 98 X 3/4 Prime Coat
PCRDP2989012 Roll Up Door, Panel Bottom 12 X 98 X 3/4 Prime Coat
PCRDP2989015 Roll Up Door, Panel Bottom 15 X 98 X 3/4 Prime Coat
PCRDPBPT1 Roll Up Door, Panel Bottom 15 X 98 X 3/4, Seal And Pull Strap

PROCORE PART # DESCRIPTION
PCFASNUTK14 Fastener, Keep Nut 1/4"-20
PCFASEB14X114 Elevator Bolt 1/4"-20 x 1 1/4"
PCFASEB14X112 Elevator Bolt 1/4"-20 x 1 1/2"
PCFASRT14X1 Steel Tubular Rivet 1/4" x 1"
PCRDF892100036 Steel Tubular Rivet 1/4" x 1 1/8"
PCRDF892100032 Steel Tubular Rivet 1/4" x 1 1/4"
PCRDF97231 Roll Up Door, Pull Strap, 32", With Retainer



DURABILITY MATTERS info@procoreparts.com40

ROLL-UP DOOR HARDWARE



info@procoreparts.com DURABILITY MATTERS41

ROLL-UP DOOR HARDWARE
PROCORE PART # DESCRIPTION
PCRDT51038 Roll Up Door, Bearing, Replaces T-51038
PCRDT59003110 Roll Up Door, Cable Assembly, 110", Replaces T59003-110
PCRDT59003115 Roll Up Door, Cable Assembly, 115", Replaces T59003-115
PCRDT59003125 Roll Up Door, Cable Assembly, 125", Replaces T59003-125
PCRDT591573 Roll Up Door, Cable Drum, L.H. Replaces T59157-3
PCRDT591574 Roll Up Door, Cable Drum, R.H. Replaces T59157-4
PCRDT59174 Roll Up Door, Balancer Assembly, 1-3/4 O.C., Replaces T59174
PCRDT5917496 Roll Up Door, Balancer Assembly, 1-3/4 O.C., Replaces T59174-96
PCRDT59194 Roll Up Door, Mounting Bracket, Replaces T59194
PCRDT61026 Roll Up Door, Cable Anchor Pin, Replaces T61026
PCRDT61174 Roll Up Door, Roller, Replaces T61174
PCRDT61191 Roll Up Door, Bottom Angle, ReplacesT61191
PCRDT61196 Roll Up Door, Center Hinge, Replaces T61196
PCRDT61204 Roll Up Door, Cable Anchor Bracket, Replaces T61204
PCRDT61352 Roll Up Door, Bottom Fixture, Replaces T61352
PCRDT61401 Roll Up Door, Lift Handle, Replaces T61401
PCRDT61402 Roll Up Door, Head Seal, Replaces T61402
PCRDT61403 Roll Up Door, Retainer, Head Seal, Replaces T61403
PCRDT69020 Roll Up Door, Safety Chain, Complete, Replaces T69020
PCRDT69035 Roll Up Door, End Hinge, Replaces T69035
PCRDT69431 Roll Up Door, Adjustable Top Fixture, Slide, Replaces T69431
PCRDT69432 Roll Up Door, Adjustable Top Fixture, Base, Replaces T69432
PCRDT69433 Roll Up Door, Adjustable Top Fixture, Complete, Replaces T69433
PCRDT69571 Roll Up Door, Security Lock Assembly, Replaces T69571
PCRDT69572 Roll Up Door, Keeper Assembly, Replaces T69572
PCRDT699641 Roll Up Door, Bottom Fixture, HD, LH, Replaces T69964-1
PCRDT699642 Roll Up Door, Bottom Fixture, HD, RH, Replaces T69964-2
PCRDT807012 Roll Up Door, Bearing, Replaces T-80701-2
PCRDT80840 Roll Up Door, Bottom Seal, Replaces T80840



DURABILITY MATTERS info@procoreparts.com42

ROLL-UP DOOR HARDWARE



info@procoreparts.com DURABILITY MATTERS43

ROLL-UP DOOR HARDWARE
PROCORE PART # DESCRIPTION
PCRDW111 Roll Up Door, Cable, 115", 5/16 Eye, Replaces W1-11
PCRDW1021 Roll Up Door, Roller Shaft Cover
PCRDW1208 Roll Up Door, Cover Hinge, Replaces W1208
PCRDW1209A Roll Up Door, End Hinge Assembly, Replaces W1209ASM
PCRDW1264 Roll Up Door, Top Closure, Replaces W1264
PCRDW1370 Roll Up Door, Bottom Bracket, Replaces W1370
PCRDW1371 Roll Up Door, Bottom Bracket, Complete, Replaces W1371
PCRDW14 Roll Up Door, Cable, 130", 5/16 Eye, Replaces W1-4
PCRDW15 Roll Up Door, Center Hinge, Replaces W15
PCRDW167696 Roll Up Door, Bottom Seal, 96", Replaces W1676-96
PCRDW1801 Roll Up Door, Bottom Channel, Replaces W1801
PCRDW237687 Roll Up Door, Balancer Assembly, 87”, Replaces W2376
PCRDW237693 Roll Up Door, Balancer Assembly, 93”, Replaces W2376
PCRDW2525 Roll Up Door, Balancer Bracket, Center, Replaces W2525
PCRDW2526 Roll Up Door, Balancer Bracket, Clamp, Replaces W2526
PCRDW2547 Roll Up Door, Cable Drum And Bearing Assembly, Road Side, 

Replaces W2547
PCRDW2548 Roll Up Door, Cable Drum And Bearing Assembly, Curb Side, 

Replaces W2548
PCRDW2996 Roll Up Door, Roller, Steel, 2" x 3" Shaft, Replaces W2996
PCRDW3228 Roll Up Door, Roller, Nylon, 2", Replaces W3228
PCRDW6943 Roll Up Door, Top Slide, Bracket, Replaces W6943
PCRDW6944 Roll Up Door, Top Closure Assembly, Replaces W6944
PCRDW7013 Roll Up Door, Cable Anchor, U-Bolt, Replaces W70-13
PCRDW7515 Roll Up Door, Handle Keeper Assembly, Replaces W7515
PCRDW77 Roll Up Door, Lock Assembly, Replaces W77



DURABILITY MATTERS info@procoreparts.com44



info@procoreparts.com DURABILITY MATTERS45



DURABILITY MATTERS info@procoreparts.com46

AXLE BEAMS
PROCORE PART # DESCRIPTION
PCAXB71522TSSC Axle Beam, 71.5" Trk, 22.5K, Tapered Spindle, Short Cams, Q Shoes
PCAXB71522TSMC Axle Beam, 71.5" Trk, 22.5K, Tapered Spindle, Medium Cams, Q Shoes
PCAXB71522PSSC Axle Beam, 71.5" Trk, 22.5K, Parallel Spindle, Short Cams, Q Shoes
PCAXB71525TSMC Axle Beam, 71.5" Trk, 25K, Tapered Spindle, Medium Cams, Q Shoes
PCAXB71525TSLC Axle Beam, 71.5" Trk, 25K, Tapered Spindle, Long Cams, Q Shoes
PCAXB71525PSLC Axle Beam, 71.5" Trk, 25K, Parallel Spindle, Long Cams, Q Shoes
PCAXB77522TSSC Axle Beam, 77.5" Trk, 22.5K, Tapered Spindle, Short Cams, Q Shoes
PCAXB77522PSSC Axle Beam, 77.5" Trk, 22.5K, Parallel Spindle, Short Cams, Q Shoes
PCAXB77525TSSC Axle Beam, 77.5" Trk, 25K, Tapered Spindle, Short Cams, Q Shoes
PCAXB77525TSLC Axle Beam, 77.5" Trk, 25K, Tapered Spindle, Long Cams, Q Shoes
PCAXB77525PSLC Axle Beam, 77.5" Trk, 25K, Parallel Spindle, Long Cams, Q Shoes



info@procoreparts.com DURABILITY MATTERS47

BEARINGS
PROCORE PART # DESCRIPTION
PCBRG3720 Wheel Bearing, 3720
PCBRG3782 Bearing, 3782
PCBRG572 Bearing, 572
PCBRG580 Bearing, 580
PCBRG592A Bearing, 592A
PCBRG594A Bearing, 594A
PCBRG653 Bearing, 653
PCBRG663 Bearing, 663
PCBRGHM212011 Bearing, HM212011
PCBRGHM212049 Bearing, HM212049
PCBRGHM218210 Bearing, HM218210
PCBRGHM218248 Bearing, HM218248
PCBRGHM518410 Bearing, HM518410
PCBRGHM518445 Bearing. HM518445
PCBRGSET401 Bearing, SET401, 572/580
PCBRGSET403 Bearing, SET403, 594A/592A
PCBRGSET405 Bearing, SET405, 663/653
PCBRGSET406 Bearing, SET406, 3782/3720
PCBRGSET413 Bearing, SET413, HM212049/HM212011
PCBRGSET414 Bearing, SET414, HM218248/HM218210
PCBRGSET415 Bearing, SET415, HM518445/HM518410



DURABILITY MATTERS info@procoreparts.com48

HUBS & CAPS
PROCORE PART # DESCRIPTION
PCHUBC4009 Hub Cap, 4009
PCHUBC4024 Hub Cap, 4024
PCHUBC5096 Hub Cap, 5096, Grease
PCHUBC5097 Hub Cap, 5097, Grease
PCHUBC4195 Hub Cap, 4195, Six Hole
PCHUBC4370 Hub Cap, 4370, Six Hole, PSI
PCHUBTR100T Hub, TR100T
PCHUB2023TSS Hub, 2023TSS
PCHUB2023TLS Hub, 2023TLS
PCHUB2027TSS Hub, 2027TSS
PCHUB2027TLS Hub, 2027TLS
PCHUB2323TSS Hub, 2323TSS
PCHUB2323TLS Hub, 2023TLS
PCHUB2343TSS Hub, 2343TSS
PCHUB2343TLS Hub, 2343TLS
PCHUB75209T Hub, Wheel, Five Spoke, 20", 75209T



info@procoreparts.com DURABILITY MATTERS49

WHEELS & WHEEL SEALS
PROCORE PART # DESCRIPTION
PCWS0836 Wheel Seal, 0836

PCWS0973 Wheel Seal, 0973

PCWS0743 Wheel Seal, 0743

PCWS0723 Wheel Seal, 0723

PCWS7097 Wheel Seal, 0797

PCWS7098 Wheel Seal, 7097

PCWS7099 Wheel Seal, 7099

PCWST75X20LR Wheel, Steel, Lock Ring, For PCWST75X20RIM

PCWST75X20LRLBLW Wheel / Rim

PCWST75X20LRLBLW-N Wheel / Rim

PCWST75X20RIM Wheel, Steel, Rim, Demountable, 7.5 x 20

PCWST75X20RIMLBLW Wheel / Rim

PCWST75X20RIMLBLW-N Wheel / Rim

PCWST825X2252HH Wheel, Steel, 8.25 x 22.5, 2 Hand Hole

PCWST825X2255HH Wheel, Steel, 8.25 x 22.5, 5 Hand Hole

PCWST825X225RIM Wheel, Steel, Rim, Demountable, 8.25 x 22.5

PCWST825X2452HH Wheel, Steel, 8.25 x 24.5, 5 Hand Hole



DURABILITY MATTERS info@procoreparts.com50

WHEEL ATTACHMENTS
PROCORE PART # DESCRIPTION
PCWAPM3216 Wheel Attachment, Stud, RH, Replaces M-3216, 162, E-6035, M22 x 1.5 

Thread
PCWAPM3217 Wheel Attachment, Stud, RH, Replaces M-3217, 160, E-6034, M22 x 1.5 

Thread
PCWAPM3203 Wheel Attachment, Nut, Replaces M-3217, 333B, E-3203, M22 x 1.5 

Thread
PCWAPM3 Wheel Attachment, Clamp, Replaces M-3, 123, E-5571A

PCWAPM39 Wheel Attachment, Stud, Replaces M-39, 715, E-4956A, 3/4-10 Thread

PCWAPM45 Wheel Attachment, Nut, Replaces M-45, 716, E-4963, 3/4-10 Thread

PCWAPM38 Wheel Attachment, Stud, Replaces M-38, 654, E-4958, 5/8-11 Thread

PCWAPM4 Wheel Attachment, Clamp, Replaces M-4, 235, E-5572A

PCWAPM126 Wheel Attachment, Cap Nut, Outer, Replaces M-126, 891AR, E-5977R, 
1-1/8-16 Thread

PCWAPM127 Wheel Attachment, Cap Nut, Outer, Replaces M-127, 892AL, E-5977L, 
1-1/8-16 Thread

PCWAPM3207 Wheel Attachment, Nut, Disc Wheel, Replaces M-3207, 881M, E-5991, 
M22 x 1.5 Thread



info@procoreparts.com DURABILITY MATTERS51



DURABILITY MATTERS info@procoreparts.com52



info@procoreparts.com DURABILITY MATTERS53

WARRANTY INFORMATION

Limited one-year warranty applies 
to all parts, and covers use under 

normal operating conditions. For more 
information, or assistance in filing a 
warranty claim, please contact your 

ProCore sales representative.



DURABILITY MATTERS info@procoreparts.com54

PREFIX GUIDE
AIR PRODUCTS 
Air Brake Fitting PCABF
Brake Chambers PCBRC
Clevis Kit Assembly PCCKA
Coiled Air Lines PCCAL
Gladhands PCGLH
Nylon Tubing PCNYL
Rubber Air Hose PCRAH

BRAKE COMPONENTS 
Brake Cam Shaft PCBCS
Brake Drums PCBRD
Brake Shoes, New Lined PCBSN 
Brake Shoes, Wheel End Kit PCBSN
Camshaft Bushing Kit PCBCB
Brake Hardware Kit PCBHK
Slack Adjusters - Auto PCABA
Slack Adjusters- Manual PCMBA

ELECTRICAL COMPONENTS
All-In-One Wraps PCELA
Electric Cable, Coiled PCELC
Electric Cable, Straight PCELS
Plugs & Receptacles PCEL
Tape PCSUP

CARGO CONTROL 
Cargo Bar PCCCB
Cargo Strap PCCCS
Chain Assembly PCCCC
Tarp Straps PCCCA

LANDING GEAR 
Accessories PCLLA
Landing Legs PCLLLL

SHOP SUPPLIES 
Drill Bits & Holders PCBIT
Misc. Supplies PCSUP
Rivets, Screws, & Bolts PCFAS
Spray Paint PCSP

SUSPENSION 
Axle Beams PCAXB
Leaf Springs PCL
Suspension Equipment PCS

TRAILER DOORS & ACCESSORIES 
Fasteners PCFAS
Roll Doors & Panels PCRD
T-Style Hardware PCRDT
W-Style Hardware PCRDW

WHEEL END 
Bearings PCBRG
Hub Caps PCHUBC
Hubs PCHUB
Steel Wheels & Rims PCWST
Wheel Attachments PCWAP
Wheel Seals PCWS



info@procoreparts.com DURABILITY MATTERS55



DURABILITY MATTERS info@procoreparts.com56

ALPHABETICAL PART INDEX
A

Air Products
Air Brake Fittings

PCABF384616 .......................3
PCABF384624 .......................3
PCABF384626 .......................3
PCABF384628 .......................3
PCABF384636 .......................3
PCABF384686 .......................3
PCABF384696 .......................3
PCABF388014 .......................3
PCABF389626 .......................3
PCABF389686 .......................3
PCABF3812105U ..................3
PCABF3838266.....................3
PCABF3839166.....................3
PCABF3839186.....................3
PCABF3839284.....................3
PCABF3847166.....................3
PCABF3847266.....................3
PCABF3848066.....................3

Brake Chambers
PCBRC3030CD ......................5
PCBRC3030CI .......................5
PCBRC3030CLS ....................5
PCBRC3030PB ......................5
PCBRC3030PBLS .................5
PCBRCA3000 ........................5

Clevis Kit Assembly
PCCKAAS3000 ......................6
PCCKAAS3002 ......................6
PCCKAAS3003 ......................6
PCCKAAS3016 ......................6
PCCKAAS3018 ......................6
PCCKAAS3019 ......................6
PCCKAAS4004 ......................6
PCCKAR810007 ....................6
PCCKAR810019 ....................6
PCCKAR810021 ....................6

Coiled Air Hoses
PCCALB15 .............................8
PCCALB1540 ........................8

PCCALR15 .............................8
PCCALR1540 ........................8
PCCALS15 .............................8
PCCALS1540 .........................8

Gladhands
PCGLH36001 ........................7
PCGLH36101 ........................7
PCGLH36161 ........................7
PCGLH36201 ........................7
PCGLH36261 ........................7
PCGLH36301 ........................7
PCGLH441154 ......................7
PCGLH441155 ......................7
PCGLHD ................................7
PCGLHSF ..............................7

Nylon Air Hoses
PCNYL55104.........................8
PCNYL55104B ......................8
PCNYL55104R ......................8
PCNYL55106.........................8
PCNYL55106B ......................8
PCNYL55106R ......................8
PCNYL55108.........................8
PCNYL55108B ......................8
PCNYL55108R ......................8
PCNYL55110.........................8

Rubber Air Hoses
PCRAH12RAH250 .................9
PCRAH38RAH250 .................9
PCRAH3200218 ....................9
PCRAH3200224 ....................9
PCRAH3200236 ....................9
PCRAH3200248 ....................9
PCRAH3200260 ....................9
PCRAH3200272 ....................9
PCRAHC0001 ........................9
PCRAHS00001 ......................9
PCRAHS00002 ......................9
PCRAHS11544 ......................9
PCRAHS11600 ......................9
PCRAHS11603 ......................9

B
Brake Components

Brake Camshafts
PCBCS869R ........................13
PCBCSC441BL ....................13
PCBCSC442BR ....................13
PCBCSC563L ......................13
PCBCSC564R ......................13
PCBCSC866R ......................13
PCBCSC867L ......................13
PCBCSC868L ......................13

Brake Drums
PCBRD1 ...............................15
PCBRD3 ...............................15
PCBRD4 ...............................15
PCBRD5 ...............................15
PCBRD6 ...............................15
PCBRD7 ...............................15
PCBRD8 ...............................15

Brake Shoes, New Lined
PCBSN4515TQ20P .............15
PCBSN4515TQ20S .............15
PCBSN4515TQ23P .............15
PCBSN4515TQ23S .............15
PCBSN4707ESQ20P ...........15
PCBSN4707ESQ20S ...........15
PCBSN4707ESQ23P ...........15
PCBSN4707ESQ23S ...........15
PCBSN4709ES20P .............15
PCBSN4709ES20S .............15
PCBSN4709ES23P .............15
PCBSN4709ES23S .............15

Brake Shoes, Wheel End Kit, 
New Lined

PCBSN4515TQ20PK ...........15
PCBSN4515TQ20SK ...........15
PCBSN4515TQ23PK ...........15
PCBSN4515TQ23SK ...........15
PCBSN4707ESQ20PK 15
PCBSN4707ESQ20SK 15
PCBSN4707ESQ23PK 15
PCBSN4707ESQ23SK 15



info@procoreparts.com DURABILITY MATTERS57

PCBSN4709ES20PK ...........15
PCBSN4709ES20SK ...........15
PCBSN4709ES23PK ...........15
PCBSN4709ES23SK ...........15

Camshaft Bushing Kits
PCBCB8683HD ...................13
PCBCB8696HD ...................13
PCBCB8772MHD ................13
PCBCB8773MHD ................13
PCBCB8792.........................13
PCBCB8805.........................13
PCBCBS8652 ......................13
PCBCBS28890 ....................13

Hardware Kits
PCBHKEF1 ..........................15
PCBHKEK1HD .....................15
PCBHKES1 ..........................15
PCBHKES2 ..........................15
PCBHKQK1HD ....................15
PCBHKQK2SHD ..................15
PCBHKXK3HD .....................15

Slack Adjusters, Automatic
PCABA65174 ......................16
PCABA65175 ......................16
PCABA40010211 ................16
PCABA40010212 ................16
PCABAAS1140 ....................16
PCABAAS1141 ....................16
PCABAR801041 ..................16
PCABAR801042 ..................16
PCABAR801073 ..................16
PCABAR801074 ..................16

Slack Adjusters, Manual
PCMBA10 ............................16
PCMBA28-1 ........................16
PCMBA28-2 ........................16
PCMBA28-3 ........................16
PCMBA37 ............................16

C
Cargo Control

Cargo Bars
PCCCBS ...............................18

Chains
PCCCC38-43 .......................18
PCCCC38X20-43 ................18
PCCCCH38 ..........................18
PCCCCTL38 ........................18
PCCCCTR38 ........................18

Strap, Ratchet
PCCCSR2X27X4 .................18
PCCCSR2X27X5 .................18
PCCS1X8 .............................18

Strap, Winch
PCCCSW4X27 .....................18
PCCCSW4X30 .....................18

Tarp Straps
PCCCATS15 ........................18
PCCCATS21 ........................18
PCCCATS31 ........................18
PCCCATS41 ........................18

E
Electrical Components

All In One Wraps
PCELAWRAP12 ...................20
PCELAWRAP15 ...................20

Electric Cable, Coiled
PCELC12B ...........................20
PCELC12G ...........................20
PCELC12G48 .......................20
PCELC15B ...........................20
PCELC15G ...........................20
PCELC15G48 .......................20

Electric Cable, Straight
PCELS8ABS.........................20
PCELS10ABS ......................20
PCELS12ABS ......................20
PCELS15ABS ......................20

Electric Plugs & Receptacles

PCEL3849709 .....................20
PCELR38197 .......................20
PCELR38497 .......................20

Tape
PCSUPETAPE ......................32

L
Landing Gear

Brace Lugs
PCLLABL01 .........................25
PCLLABL02 .........................25
PCLLABL03 .........................25
PCLLABL04 .........................25
PCLLABL05 .........................25

Crank Handle
PCLLA03207H ....................25
PCLLA03209V .....................25
PCLLA03211H ....................25
PCLLA03211V .....................25
PCLLA03215H ....................25
PCLLA03215V .....................25
PCLLA03221H ....................25
PCLLA03221V .....................25
PCLLC03207V .....................25

Crank Handle Holder
PCLLACHH01 ......................25
PCLLACHH02 ......................25

Landing Legs
20AULPS230444 ................23
20AULPS230444GS ............23
20AULPS230444NG ...........23
PCLLLL300XLT17 ...............23
PCLLLL300XLT117 .............23
PCLLLL300XRT17 ..............23
PCLLLL300XRT117 ............23
PCLLLL300XT17 .................23
PCLLLL300XT117 ...............23

Sand Shoes
PCLLA05300 .......................25
PCLLA05310 .......................25
PCLLA06410 .......................25

ALPHABETICAL PART INDEX



DURABILITY MATTERS info@procoreparts.com58

PCLLA06411 ....................................................25
PCLLA06431 ....................................................25

Timing Bars
PCLLATB01 ......................................................25
PCLLATB02 ......................................................25

Top Covers
PCLLATC01 ......................................................25
PCLLATC02 ......................................................25
PCLLATC03 ......................................................25

S
Shop Supplies

Bit Holders
PCBIT855 .........................................................29
PCBIT858 .........................................................29

Brake Cleaner
PCSUP ..............................................................32

Drill Bits, High Speed
PCBIT12HS ......................................................29
PCBIT14HS ......................................................29
PCBIT316HS ....................................................29
PCBIT516HS ....................................................29
PCBIT732HS ....................................................29
PCBIT932HS ....................................................29
PCBIT1132HS ..................................................29
PCBIT1164HS ..................................................29
PCBIT1364 .......................................................29
PCBIT1764HS ..................................................29

Elevator Bolts
PCFASEB14X112 .............................................30
PCFASEB14X114 .............................................30

Floor Screws, Torx Head
PCFASFSTH14X2 .............................................28
PCFASFSTH14X3 .............................................28
PCFASFSTH14X4 .............................................28
PCFASFSTH14X5 .............................................28
PCFASFSTH14X6 .............................................28
PCFASFSTH14X112 ........................................28
PCFASFSTH14X114 ........................................28
PCFASFSTH14X212 ........................................28
PCFASFSTH516X1 ..........................................28

PCFASFSTH516X2 ..........................................28
PCFASFSTH516X3 ..........................................28
PCFASFSTH516X112 28
PCFASFSTH516X114 28
PCFASFSTH516X212 28
PCFASFSTH516X312 28

Gadus
PCSUPSHE550026853 32
PCSUPSHE550026854 32
PCSUPSHE550027558 32

Gear/Hub Oil
PCSUPGOIL80W90Q .......................................32
PCSUPGOIL85W140 ........................................32
PCSUPGOIL85W140Q 32

Hand Cleaners
PCSUPFORG25219 ..........................................32
PCSUPGOJO1135-06 32
PCSUPGOJO6298-04 32

Insert Bits, Torx Head
PCBIT440TX20 ................................................29
PCBIT440TX25 ................................................29
PCBIT440TX30 ................................................29
PCBIT440TX35 ................................................29
PCBIT480TX40 ................................................29
PCBIT480TX45 ................................................29

Keep Nut
PCFASNUTK14 ................................................30

Penetrating Oil
PCSUP ..............................................................32

Rags & Towels
PCSUPRAGWHT50COT 32
PCSUPSCOTT75190 ........................................32

Rivets, Aluminum
38RAD68ABS ...................................................30
PCFASRD381061213 .......................................30

Rivets, Nylon
PCFASRTAP14X1 .............................................30
PCFASRTAP14X2 .............................................30
PCFASRTAP14X34 ...........................................30
PCFASRTAP14X112 ........................................30

Rivets, Steel

ALPHABETICAL PART INDEX



info@procoreparts.com DURABILITY MATTERS59

38RSD68BS......................................................30
38RSSD68SSBS ...............................................30
PCFASRT14X1 .................................................30
PCRDF892100032 ...........................................30
PCRDF892100036 ...........................................30

Spray Paint
PCSPPBL ..........................................................31
PCSPPBLF........................................................31
PCSPPBLUE .....................................................31
PCSPPFORDBLUE ............................................31
PCSPPGR .........................................................31
PCSPPLG..........................................................31
PCSPPORANGE ...............................................31
PCSPPPG .........................................................31
PCSPPR ............................................................31
PCSPPRPR .......................................................31
PCSPPW ...........................................................31
PCSPPWF .........................................................31
PCSPPY ............................................................31

Tape
PCSUPETAPE ...................................................32

Undercoating, Spray
PCSUP ..............................................................32

Suspension
Axle Beam, Parallel Spindle

PCAXB71522PSSC ..........................................46
PCAXB71525PSLC ..........................................46
PCAXB77522PSSC ..........................................46
PCAXB77525PSLC ..........................................46

Axle Beam, Tapered Spindle
PCAXB71522TSMC .........................................46
PCAXB71522TSSC ..........................................46
PCAXB71525TSLC ...........................................46
PCAXB71525TSMC .........................................46
PCAXB77522TSSC ..........................................46
PCAXB77525TSLC ...........................................46
PCAXB77525TSSC ..........................................46

Bolt Kit, Equalizer
PCSHUBK01 .....................................................35
PCSHUBK02 .....................................................35

Bolt Kit, Fastener
PCSBKFBK01 ...................................................35
PCSBKFBK02 ...................................................35

Equalizer
PCSBKEQ01 .....................................................35
PCSHUEQ01 .....................................................35
PCSHUEQ02 .....................................................35

Fastener
PCSBKFB01 .....................................................35
PCSBKFB02 .....................................................35
PCSBKFN01 .....................................................35
PCSBKFN02 .....................................................35
PCSHUFB01 .....................................................35
PCSHUFN01 .....................................................35
PCSTRPFBK01 .................................................35
PCSTRPFBK02 .................................................35

Hanger
PCSHUH001 .....................................................35
PCSHUH002 .....................................................35
PCSHUH003 .....................................................35
PCSTRPH01 .....................................................35
PCSTRPH02 .....................................................35

Leaf Springs
PCLS32600 ......................................................46
PCLS32601 ......................................................46
PCLS35400 ......................................................46
PCLS35500 ......................................................46
PCLS35600 ......................................................46
PCLS36000 ......................................................46
PCLS36300 ......................................................46
PCLS36500 ......................................................46
PCLS75205 ......................................................46

Torque Arm
PCSBKTAA01 ...................................................35
PCSBKTAN01 ...................................................35
PCSHUTAA01 ...................................................35
PCSHUTAN01 ..................................................35

Wear Pad
PCSHUWP01 ....................................................35

ALPHABETICAL PART INDEX



DURABILITY MATTERS info@procoreparts.com60

T
Trailer Doors & Accessories

Fastener, Elevator Bolts
PCFASEB14X112 .............................................39
PCFASEB14X114 .............................................39

Fastener, Keep Nuts
PCFASNUTK14 ................................................39

Rivet, Steel, Tubular
PCFASRT14X1 .................................................39
PCRDF892100032 ...........................................39
PCRDF892100036 ...........................................39

Roll Door Assembly
PCRDAGP98X100 ............................................39
PCRDAGP98X100W .........................................39
PCRDAGP98X107 ............................................39
PCRDAGP98X107W .........................................39

Roll Door Conversion Kit
PCRDC02560407 .............................................39
PCRDC02560409 .............................................39

Roll Door Panels, Bottom
PCRDP2989011 ...............................................39
PCRDP2989012 ...............................................39
PCRDP2989015 ...............................................39
PCRDPBPT1 .....................................................39

Roll Door Panels, Intermediate
PCRDP2988911 ...............................................39
PCRDP2988912 ...............................................39
PCRDP2988915 ...............................................39

Straps
PCRDF97231 ....................................................39

Roll Door Hardware
PCRDT51038 ...................................................41
PCRDT59174 ...................................................41
PCRDT59194 ...................................................41
PCRDT61026 ...................................................41
PCRDT61174 ...................................................41
PCRDT61191 ...................................................41
PCRDT61196 ...................................................41
PCRDT61204 ...................................................41
PCRDT61352 ...................................................41
PCRDT61401 ...................................................41
PCRDT61402 ...................................................41

PCRDT61403 ...................................................41
PCRDT69020 ...................................................41
PCRDT69035 ...................................................41
PCRDT69431 ...................................................41
PCRDT69432 ...................................................41
PCRDT69433 ...................................................41
PCRDT69571 ...................................................41
PCRDT69572 ...................................................41
PCRDT80840 ...................................................41
PCRDT591573 .................................................41
PCRDT591574 .................................................41
PCRDT699641 .................................................41
PCRDT699642 .................................................41
PCRDT807012 .................................................41
PCRDT5917496 ...............................................41
PCRDT59003110 .............................................41
PCRDT59003115 .............................................41
PCRDT59003125 .............................................41
PCRDW14 .........................................................43
PCRDW15 .........................................................43
PCRDW77 .........................................................43
PCRDW111 .......................................................43
PCRDW1021 ....................................................43
PCRDW1208 ....................................................43
PCRDW1209A ..................................................43
PCRDW1264 ....................................................43
PCRDW1370 ....................................................43
PCRDW1371 ....................................................43
PCRDW1801 ....................................................43
PCRDW2525 ....................................................43
PCRDW2526 ....................................................43
PCRDW2547 ....................................................43
PCRDW2548 ....................................................43
PCRDW2996 ....................................................43
PCRDW3228 ....................................................43
PCRDW6943 ....................................................43
PCRDW6944 ....................................................43
PCRDW7013 ....................................................43
PCRDW7515 ....................................................43
PCRDW167696 ................................................43
PCRDW237687 ................................................43
PCRDW237693 ................................................43

ALPHABETICAL PART INDEX



info@procoreparts.com DURABILITY MATTERS61

W
Wheel End

Bearings
PCBRG572 .......................................................47
PCBRG580 .......................................................47
PCBRG592A .....................................................47
PCBRG594A .....................................................47
PCBRG653 .......................................................47
PCBRG663 .......................................................47
PCBRG3720 .....................................................47
PCBRG3782 .....................................................47
PCBRGHM212011 ...........................................47
PCBRGHM212049 ...........................................47
PCBRGHM218210 ...........................................47
PCBRGHM218248 ...........................................47
PCBRGHM518410 ...........................................47
PCBRGHM518445 ...........................................47
PCBRGSET401 .................................................47
PCBRGSET403 .................................................47
PCBRGSET405 .................................................47
PCBRGSET406 .................................................47
PCBRGSET413 .................................................47
PCBRGSET414 .................................................47
PCBRGSET415 .................................................47

Hub Caps
PCHUBC4009 ...................................................47
PCHUBC4024 ...................................................47
PCHUBC4195 ...................................................47
PCHUBC4370 ...................................................47
PCHUBC5096 ...................................................47
PCHUBC5097 ...................................................47

Hubs
PCHUB2023TLS...............................................47
PCHUB2023TSS ..............................................47
PCHUB2027TLS...............................................47
PCHUB2027TSS ..............................................47
PCHUB2323TLS...............................................47
PCHUB2323TSS ..............................................47
PCHUB2343TLS...............................................47
PCHUB2343TSS ..............................................47
PCHUBTR100T ................................................47

Steel Wheels

PCWST75X20LR ..............................................49
PCWST825X225RIM ........................................49
PCWST825X2252HH .......................................49
PCWST825X2255HH .......................................49
PCWST825X2452HH .......................................49

Wheel Attachment
PCWAPM3 ........................................................49
PCWAPM4 ........................................................49
PCWAPM38 ......................................................49
PCWAPM39 ......................................................49
PCWAPM45 ......................................................49
PCWAPM126 ....................................................49
PCWAPM127 ....................................................49
PCWAPM3203 .................................................49
PCWAPM3207 .................................................49
PCWAPM3216 .................................................49
PCWAPM3217 .................................................49

Wheel Rims
PCWST75X20LRLBLW 49
PCWST75X20LRLBLW-N 49
PCWST75X20RIM ............................................49
PCWST75X20RIMLBLW 49
PCWST75X20RIMLBLW-N 49

Wheel Seals
PCWS0723 .......................................................49
PCWS0743 .......................................................49
PCWS0836 .......................................................49
PCWS0973 .......................................................49
PCWS7097 .......................................................49
PCWS7098 .......................................................49
PCWS7099 .......................................................49

ALPHABETICAL PART INDEX



DURABILITY MATTERS info@procoreparts.com62



info@procoreparts.com DURABILITY MATTERS63



DURABILITY MATTERS info@procoreparts.com64

 REPLACEMENT PARTS FOR THE HEAVY 
DUTY TRANSPORTATION INDUSTRY

facebook.com/procoreparts info@procoreparts.com

Built from the inside out to be long lasting, and to meet or exceed OEM-level 
durability and service life. The ProCore family of transportation parts provides 

your service and parts sales departments a new option for you and your 
customers - OEM quality without the inflated OEM prices.


